s gl e -

36 different enclosure sizes and a
wide range of accessories permit the
fitting of products from terminals
(available as accessories) to high-value
electronics.

The enclosure line with IP 65 ingress
protection, manufactured using high-
quality polycarbonate or lower-priced
ABS, offers optimal protection for
your components.

The polycarbonate (M...) enclosures
are UL-listed.

388



TV

Welcome to BOPLACity!

Enclosure material:

Colour:

Scope of delivery:

Ingress protection:

Lid seal:

Polycarbonate,
ABS.

For technical data
see pages 646-651.
Light grey, similar
to RAL 7035.
Special colours on
request.

Upper and lower
section; lid screws
made of V2A; self-
tapping screws for
mounting bosses.
IP65/DIN EN 60529;
increased protec-
tion up to IP x7

on request.
Sponge cord
(neoprene) in lid
groove.

For technical data
see page 651.

Polycarbonate enclosures

Accessories (additional charge):

M: Mounting plate,
laminated paper (Pertinax),
zinc-coated steel for model 260
RD:  Set of knurled screws = 4 pcs
F: Set of rubber feet = 4 pcs
WL: Set of wall brackets = 4 pcs
TS 15: Top hat rail DIN EN 60715 TH15
TS 32: G-rail DIN EN 60715 G 32
TS 35: Top hat rail DIN EN 60715 TH35
SchM: Hinge for M/T

Lid with silicone seal on request.

ABS enclosures

Notes:

All M and M...G enclosures are
listed under UL file no. 196 706 UL.
We recommend fitting the mount-
ing plate or the DIN-rails with the
self-tapping screws (included with
the enclosure).

Threaded inserts are required for
assembly with metric screws. See
page 643.

Cable glands, see page 614 ff.
Terminal assignment, see page 409
Material shrinkage may result in
ABS enclosures being approx. 0.1 -
0.25% larger than the PC enclosures
illustrated.

For Vestamid enclosures suitable for
FO5-insertion, please see

pages 436-437.

External dim.

Model Order no. Model Order no. Model Order no. Model Order no. L W H
M 205 02205000 M 205 G 02205400 T 205 03205000 T 205 SV* 03205400 52 50 35
M 206 02206000 M 206 G 02206200 T 206 03206000 T 206 SV* 03206400 65 50 35
M 208 02208000 - - T 208 03208000 T 208 SV* 03208400 98 64 36
M 210 02210000 M210 G 02210100 T210 03210000 T 210 SV* 03210400 82 80 55
M 215 02215000 M 215G 02215100 T 215 03215000 T 215 SV* 03215400 120 80 55
M216 02216000 M216 G 02216100 T 216 03216000 T 216 SV* 03216400 120 80 60
M 217 02217000 M217 G 02217200 T 217 03217000 T 217 SV* 03217400 122 120 55
M219 02219000 - - T219 03219000 T 219 SV* 03219400 160 80 60
M 220 02220000 M 220 G 02220100 T 220 03220000 T 220 SV* 03220400 160 80 55
M 221 02221000 M 221G 02221100 T 221 03221000 T 221 SV* 03221400 200 120 75
M 223 02223000 M 223 G 02223100 T 223 03223000 T 223 SV* 03223400 200 150 75
M 225 02225000 M 225G 02225100 T 225 03225000 T 225 SV* 03225400 82 80 85
M 226 02226000 M226 G 02226100 T 226 03226000 T 226 SV* 03226400 120 80 85
M 227 02227000 M 227 G 02227100 T 227 03227000 T 227 SV* 03227400 122 120 85
M 228 02228000 M 228 G 02228100 T 228 03228000 - - 122 120 105
M 230 02230000 - - T 230 03230000 T 230 SV* 03230400 120 80 90
M 231 02231000 M 231G 02231100 T 231 03231000 T 231 SV* 03231400 160 80 85
M 235 02235000 - - T 235 03235000 T 235 SV* 03235400 160 80 90
M 237 02237000 M 237 G 02237100 T 237 03237000 T 237 SV* 03237400 200 120 90
M 238 02238000 M 238 G 02238100 T 238 03238000 T 238 SV* 03238400 160 120 90
M 2381 02238200 M 2381 G 02238300 T 2381 03238200 - - 160 120 75
M 240 02240000 M 240 G 02240100 T 240 03240000 T 240 SV* 03240400 250 160 90
M 2401 02240200 M 2401 G 02240300 T 2401 03240200 T 2401 SV* 03240240 240 160 90
M 241 02241000 - - T 241 03241000 T 241 SV* 03241400 250 160 120
M 242 02242000 M 242 G 02242100 T 242 03242000 T 242 SV* 03242400 240 120 100
M 243 02243000 M 243 G 02243100 T 243 03243000 T 243 SV* 03243400 240 160 120
M 244 02244000 M 244 G 02244100 T 244 03244000 - - 340 150 100
M 245 02245000 - T 245 03245000 - - 340 150 120
M 246 02246000 M 246 G 02246100 T 246 03246000 - - 160 120 140
M 250 02250000 - T 250 03250000 - - 250 160 150
M 251 02251000 - T 251 03251000 T 251 SV* 03251400 360 160 100
M 252 02252000 - - - - - 300 230 65
M 253 02253000 M 253 G 02253100 T 253 03253000 T 253 SV* 03253400 300 230 85
M 254 02254000 M 254 G 02254100 T 254 03254000 T 254 SV* 03254400 300 230 110
M 255 02255000 M 255 G 02255100 T 255 03255000 T 255 SV* 03255400 360 200 150
T 260 03260000 - - 400 360 150
G = clear lid SV = quick-release fastening

* available on request

All dimensions in mm. Please refer to technical data.

389




Welcome to BOPLACity!

M/T 205 Order designation
52/51.7 Polycarbonate enclosures Order no.
2‘;“2;‘23%73”' M 205 02205000
= M 205 G 02205400
; *= Dimension reduced ut botfom due to conicul form. (G = with clear Ild)
B : \& Tolerances to DIN 16901-130.
sy | ABS enclosures Order no.
[ N g
||~ 3 ‘
SUESTI T 1 i A T 205 03205000
898 | T 205 Sv* 03205400
B\ fffg (SV = quick-release fastening)
‘ - * available on request
lid cylinder screw
M4 x 20/7 similur to DIN ISO 7045
— - © 35 Accessories (additional charge)  Order no.
52/51.4* (totul height) M: Mounting plate, 1.5 mm 22000100
40 TS 15: Top hat rail DIN EN 60715 TH15 22001800
16.2 225/ 10
4.5 deep
N
@J 15 ). —
5 N g
® §a= JLere13i @ H®
3 HL N
273 | o
e o)
30.6/30 * 35
47/46.4* 2 31 | 2
— (mux. ussembly height)
Due fo u different shrinkuge rute of
@ the plustic material, ABS enclosures cun
buse be dbout 0.1 - 0.25% bigyer thun the
2.2501008 PC enclosures shown in the drawing.
M/T 206 Order designation
65/64.6 Polycarbonate enclosures Order no.
57/56.7 * M 206 02206000
40.6/40.3 M 206 G 02206200
= with clear i
17 *= Dimension reduced ut botfom due to conicul form. (G th clea d)
$22) QF Tolerances to DIN 16901-130.
el ABS enclosures Order no.
e
358 T 206 03206000
|| O
3|9 T 206 SV* 03206400
N\ @ (SV = quick-release fastening)
s J * available on request
lid cylinder screw
M4 x 20/7 sifnilar to DIN ISO 7045
® 35 Accessories (additional charge)  Order no.
—— |
65/64.4* (total height) M: Mounting plate, 1.5 mm 22000200
53 25 TS 15: Top hat rail DIN EN 60715 TH15 22001710
38 24/ S| 3
6.5 deep 8
L
& | ®
~ r o] .
~ ‘
® g3 1@y @ ©® S
o | 283 ‘ I
!
() ! >l
- S
43.6/43 * & 55
60/59.4 25 295
(Mux. ussembly height)
Due to u different shrinkuge rute of
the plustic material, ABS enclosures cun
buse @ be ubout 0.1 - 0.25% bigyer thun the
Z-2501099 PC enclosures shown in the drawing.

390 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

Order designation M/T 208
Polycarbonate enclosure  Order no.
M 208 02208000
98/97.7 *
| 87.2/87 *
I
N N *= Dimension reduced ut bottom due fo conicul form.
ABS enclosures Order no. TS & ] Tolerances o DIN 16901-130.
T 208 03208000 I 2
T 208 SV* 03208400 el >
- - 9l =2
(SV = quick-release fastening) 3|8 v“‘
* available on request A =
\7 i
‘ 71.8/71.6* 134
lid )
. cylinder screw M4 x 18/7
Accessories (additional charge)  Order no. O similar to DIN EN ISO 7045
F: set of rubber feet = 4 pcs 22003300 98 gZS : 36.4
24 __18__18__14 (fofal heighty
225/ 45 49 8 oas 42 9.2
4 deep - 4 deep © -
<
Q}J 1 & 8 | T
* ~/I |
™) L 3 Tl S <
3 I Sel a2 (B . L
® %3 Gl @ ©® | ®
3 |8
121 &
\r/
qP/ 74.6/74* 114 15
90/89.4* = 4 29.4
— - (mux. ussembly height)
buse @ Due fo u different shrinkage rate of
the plustic material, ABS enclosures cun
be dbout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Z-2501100
Order designation M/T 210
Polycarbonate enclosures Order no. 82/815"
M 210 02210000 73/72.6*
M210 G 02210100 54.2/53.8
(G = with clear |id) 4 ) *= Dimension reduced ut bottom due to conicul form.
7? il Tolerunces to DIN 16901-130.
i N
ABS enclosures Order no. el
[folie]
T 210 03210000 9|3
ININN
T 210 SV* 03210400 8|~
(SV = quick-release fastening) E (,,
* available on request % ) cylinder screw M4 x 24/10
similur to DIN EN 1SO 7045
lid @
. 55
Accessories (additional charge) Order no. 82/81.3* é%‘g (totul height)
M: Mounting plate, 1.5 mm 22000300 = 2726 o o deep 440
RD: set of knurled screws = 4 pcs 22003100 ' ' g
F: set of rubber feet = 4 pcs 22003300 IS § o S =
WL: set of wall brackets = 4 pcs 22004900 J : -
TS 15: Top hat rail DIN EN 60715 TH15 22001700 . ¥ : - r'(l 3 - N
TS 32: G-rail DIN EN 60715 G 32 22001701 @ 8= L i < p § @ ® H—— e
TS 35: Top hat rail DIN EN 60715 TH35 22001702 © 1.5 } 5~
N ‘
1) I ]
Ble | o I
435 & 5
58 3 49
76/75.3 * (Mmux. ussembly height)
Due to u different shrinkuge rute of
buse @ the plustic muteriul, ABS enclosures cun

be ubout 0.1 - 0.25% bigyyer thun the
PC enclosures shown in the drawing.

Z-2501101

Processing (drilling, milling, printing) and terminal assignment on request. 391

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

M/T 215 Order designation
Polycarbonate enclosures  Order no.
M 215 02215000
120/1195* M 215 G 02215100
111/110.6 . .
92.2/91.8" (G = with clear lid)
. s *= Dimension reduced ut bottom due fo conicul form.
”ﬂ Y Tolerances to DIN 16901-130. ABS enclosures Order no.
T T 215 03215000
o9 s T 215 SV* 03215400
EINp (SV = quick-release fastening)
= 2 * available on request
4
cylinder screw
lict M4 x 28/10 similar to DIN EN ISO 7045 .
! @ XD simicrto ACCessories (additional charge)  Order no.
55 M: Mounting plate, 1.5 mm 22000400
120/119.3* = Al heic
/108 6?::/169[.) 40 (fotal height) RD: set of knurled screws = 4 pcs 22003100
95.2/94.5* ~ 4 F: set of rubber feet = 4 pcs 22003300
(o 7 3\ s WL: set of wall brackets = 4 pcs 22004900
A | P TS 15: Top hat rail DIN EN 60715 TH15 22001900
' ©
. ‘ s|® 2. o TS 35: Top hat rail DIN EN 60715 TH35 22001910
@2ME,, S = =Y I @ 6 5
S | 258
@D ! NI
\
o | o —
n : n o
81.5 & 5
96 3 1 49.5
114/113.3 * (Mmux. ussembly height)
——] Due to u different shrinkuge rute of
buse @ the plustic material, ABS enclosures cc
be dbout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Z-2501102
M/T 216 Order designation
Polycarbonate enclosures Order no.
12011195 " M 216 02216000
1?1214/1;]0.3: M 216 G 02216100
T (G = with clear lid)
*= Dimension reduced ut bottom due fo conicul form.
] 7z Tolerunces to DIN 16901-130.
j» J ABS enclosures Order no.
ool T 216 03216000
™)
g?ﬁ T 216 SV* 03216400
~| - .
=7 \ ) (SV = quick-release fastening)
’;ﬁ Nl * available on request
e
cylinder screw M4 x 28/10
lid similur to DIN EN ISO 7045
@ o Accessories (additional charge)  Order no.
120/119.3 * o4/ (totul height) M: Mounting plate, 1.5 mm 22000400
108 5d 0
95.2/945 " sodeer 7 F: set of rubber feet = 4 pcs 22003300
~ E \WL: set of wall brackets = 4 pcs 22004900
1S 2 TS 15: Top hat rail DIN EN 60715 TH15 22001900
)
(gg TS 35: Top hat rail DIN EN 60715 TH35 22001910
o 3 . o5 R
g TotdH @ 6 H—— 4s
@ s ] 0 ©
! @
815 | N6 5
% 3 54
114/113.3* (mux. ussembly height)
— Due to u different shrinkuyge rute of
buse @ the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer than the
PC enclosures shown in the drawing.
Z-2501103
392 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

122/1215°
113/112.6
Order designation 94.2/93.8" M/T 217
Polycarbonate enclosures Order no. ] N *= Dimension reduced ut botfom due to conicul form.
M 217 0221 7000 N 7 Tolerunces to DIN 16901-130.
M 217 G 02217200
(G = with clear lid)
ol |-
o |9
— O
ABS enclosures Order no. SER
SISl
T217 03217000 R
* Due to u different shrinkuye rute of
T 21 7 SV 0321 7400 the plustic muteriul, ABS enclosures cun
(SV = quick_re|ease fastening) J) be ubout 0.1 - 0.25% biyyer thun the
* ilabl I~ -~ PC enclosures shown in the drawing.
available on request *5 > cylinder screw M4 x 24/10
i similar DIN EN ISO 7045
lid
55
Accessories (additional charge) Order no. 122/;]2&‘3 62’54(4 . o (totul height)
. ee]
M: Mounting plate, 2.0 mm 22000500 97.2/96.5* ‘ 4
~N
RD: set of knurled screws = 4 pcs 22003100 N
F: set of rubber feet = 4 pcs 22003300 [\J @7
WL: set of wall brackets = 4 pcs 22004900 2 N
TS 15: Top hat rail DIN EN 60715 TH15 22001900 22 N
TS 35: Top hat rail DIN EN 60715 TH35 22001910 o i Ak
> > & (R
Zlols 7 2=l 4 B HY—— T
Of SR St @ ©
N =
e 5
= I
83.4 o | 4
' 100 4 48
116/1153 (Mmux. ussembly height)
— -
buse @ 72501104
Order designation M/T 219
Polycarbonate enclosure  Order no.
M 219 02219000
160/159.5 *
151/150.6 *
132.2/131.8*
g -t *= Dimension reduced ut bottom due to conicul form.
Tol to DIN 16901-130.
ABS enclosures Order no. T e olerances fo DIN 16701-130
T219 03219000 ggﬁ
T 219 SV* 03219400 SIS
(SV = quick-release fastening) 2~ \ )
. = T
* available on request ';ﬁ N}
1 |
w) cylinder screw M4 x 28/10
id similar fo DIN EN 1SO 7045
Accessories (additional charge)  Order no. @ ©
M: Mounting plate, 1.5 mm 22000600 ‘60/5’:-3 ’ @4/ o (totul height)
65d
F: set of rubber feet = 4 pcs 22003300 135.2/134.7 * o 4
o~
WL: set of wall brackets = 4 pcs 22004900 - 3
TS 15: Top hat rail DIN EN 60715 TH15 22002000 % @ o 4
TS 32: G-rail DIN EN 60715 G 32 22002010 2 .
TS 35: Top hat rail DIN EN 60715 TH35 22002020 2o QE B 8 1 2 Il sl2 @ @ ,,,,,
5 * N
@ (7}) ~
9 of2
1215 |5
136 3 1] 54
154/1563.5 * (Mux. ussembly height)
—] Due to u different shrinkuge rute of
o @ the plustic muterial, ABS enclosures cun
buse -
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shownh in the drawing.
Z-2501105
Processing (drilling, milling, printing) and terminal assignment on request. 393

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

M/T 220

160/159.5 *

151/150.6 *

132.2/131.8*

S

80/79.5
71/70.6 *
34.2/33.8 *

e
=4

*= Dimension reduced ut bottom due to conicul form.
Tolerunces fo DIN 16901-130.

cylinder screw M4 x 24/10
similar to DIN EN ISO 7045

Order designation

Polycarbonate enclosures  Order no.
M 220 02220000
M 220 G 02220100
(G = with clear lid)

ABS enclosures Order no.
T 220 03220000
T 220 SV* 03220400

(SV = quick-release fastening)

* available on request

buse

Z-2501107

@

6.5
3 11 68.5

cylinder screw M4 x 24/10
similur fo DIN EN ISO 7045

75
%0 (totul height)

lid
200/199 * —= oy
188
175.2/174.2~ ‘ | 65 deeb R
<
(SJ @_@ 82 N
> . .
® S8 = @ ‘2 ®
| 137.5 P
60 o
176
1947193

(Mmux. ussembly height)

Due to u different shrinkuge rute of

the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing..

lid
@ o Accessories (additional charge)  Order no.
160/]15;?.3 N — 24/ 40(fo'rul height) M: Mounting plate, 1.5 mm 22000600
654
135.2/134.7 * eer o RD: set of knurled screws = 4 pcs 22003100
o ‘ T,f F: set of rubber feet = 4 pcs 22003300
2 @ ‘ WL: set of wall brackets = 4 pcs 22004900
. W | ol TS 15: Top hat rail DIN EN 60715 TH15 22002000
w0 5|42
3)¢gs SE - ‘ 82 4 6 I TS 32: G-rail DIN EN 60715 G 32 22002010
o N
® J ‘ 5 TS 35: Top hat rail DIN EN 60715 TH35 22002020
Vo) i ! =
\ 1215 \ | 5
136 3 29 3
154/153.5 * " (mux. ussembly height)
— -
buse @ Due to u different shrinkuge rate of
the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Z-2501106
M/T 221 Order designation
200/199.5 * Polycarbonate enclosures Order no.
91zs M 221 02221000
i ‘ 3 *= Dimension reduced ut bottom due to conicul form. M 221 G 02221100
1] Tolerunces to DIN 16901-130. (G - Wi'th clear |Id)
<ol ABS enclosures Order no.
228 T 221 03221000
=l oy
SIS T 221 SV* 03221400

(SV = quick-release fastening)

* available on request

Accessories (additional charge)  Order no.
M: Mounting plate, 2.0 mm 22000700
RD: set of knurled screws = 4 pcs 22003100
F: set of rubber feet = 4 pcs 22003300
WL: set of wall brackets = 4 pcs 22004900

TS 15: Top hat rail DIN EN 60715 TH15 22002100

TS 32: G-rail DIN EN 60715 G 32

22002130

TS 35: Top hat rail DIN EN 60715 TH35 22002120

394

For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

Order designation M/T 223
Polycarbonate enclosures Order no. 200/199.5 ¢
M 223 02223000 ﬁ?ﬂggg
M 223 G - 022231 00 ‘ *= Dimension reduced ut boftom due to conicul form.
(G = with clear lid) Tolerances to DIN 16901-130.
ABS enclosures Order no. 0o
oo =
T 223 03223000 § § §
T 223 SV* 03223400 2=
(SV = quick-release fastening)
* available on request
cylinder screw M4 x 24/10
similur to DIN EN 1SO 7045
lid
Accessories (additional charge) Order no. 200/199 * — (total h7e?yhf)
M: Mounting plate, 2.0 mm 22000800 ‘ ]751/8]%4, 6.25’?1/99;, Wi 60
RD: set of knurled screws = 4 pcs 22003100 ‘ — @/éi 3
F: set of rubber feet = 4 pcs 22003300 %@ =
WL: set of wall brackets = 4 pcs 22004900 & ° & :] J
TS 15: Top hat rail DIN EN 60715 TH15 22002105 . o 29 ol
TS 32: G-rail DIN EN 60715 G 32 22002110 %%{;@ SR . i\)% @ ® ©®
TS 35: Top hat rail DIN EN 60715 TH35 22002115 - o -
° o ﬂ
\ 160 S 1ls
194/193* 3 68.5
@ p——) (Mmux. ussembly height)
buse
Due to u different shrinkuge rate of
the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigger thun the
PC enclosures shown in the drawing.
Z-2501108
Order designation M/T 225
Polycarbonate enclosures Order no.
M 225 02225000 w15
M 225 G 02225100 73/72.6 "
(G = with clear lid) 54.2/53.8"
- *= Dimension reduced ut bottom due to conicul form.
ABS enclosures Order no. ;ﬂ Tolerances to DIN 16901-130.
T 225 03225000 NN
T 225 SV* 03225400 SEE
(SV = quick-release fastening) 8NS
* available on request E @
- = cylinder screw M4 x 24/10
lid similur o DIN EN ISO 7045
Accessories (additional charge)  Order no. ®
. ; 85
M: Mounting plate, 1.5 mm 22000300 80781 * o4/ Gotal heighh
RD: set of knurled screws = 4 pcs 22003100 = 27?50 _ 6.5 deep S 70
F: set of rubber feet = 4 pcs 22003300 ‘ o
WL: set of wall brackets = 4 pcs 22004900 % S, ®
TS 15: Top hat rail DIN EN 60715 TH15 22001700 ) oo 7
TS 32: G-rail DIN EN 60715 G 32 22001701 . o | e |l .
TS 35: Top hat rail DIN EN 60715 TH35 22001702 @ %55 1’ﬁ 4@ % §§ @ @ *********** 1
S =
F @/Q
,(, )
43 & %&5
58 3 79
76/75 " (mux. ussembly height)
——

buse

Due fo u different shrinkuge rute of
the plustic mauteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
2-2501109

Processing (drilling, milling, printing) and terminal assignment on request.
All dimensions in mm. Please refer to technical data.

395‘



Welcome to BOPLACity!

M/T 226 Order designation
Polycarbonate enclosures  Order no.
M 226 02226000
1201195 M 226 G 02226100
92.2/91.8* (G = with clear lid)
L5 @t *= Dimension reduced ut boftom due to conicul form.
i uid Tolerunces to DIN 16901-130. ABS enclosures Order no.
ol T 226 03226000
g § 3 Due to u different shrinkuge rute of T 226 SV* 03226400
A the plustic muteriul, ABS enclosures cun
4 J) be ubout 0.1 - 0.25% bigger than the (SV = quick-re|ease fastening)
IS ] PC enclosures shown in the drawing. .
1% * available on request

cylinder screw M4 x 24/10
lid similar to DIN EN ISO 7045

0

85 i iti
P Y RS e Accessories (additional charge)  Order no.
108 6.5 deep 3 70 M: Mounting plate, 1.5 mm 22000400
95.2/94 *
g RD: set of knurled screws = 4 pcs 22003100
@ ; ; i — F: set of rubber feet = 4 pcs 22003300
& % 9 j WL: set of wall brackets = 4 pcs 22004900
@éggr i 8 H=2 8 @@ &0 1S TS 15: Top hat rail DIN EN 60715 TH15 22001900
8 J 1 * E N - TS 35: Top hat rail DIN EN 60715 TH35 22001910
=N . ) /ﬁ
¢ 9l '
815 € ‘# | 5
% 3] 795
114/113 * (Mmux. ussembly height)
—]
buse @
Z-2501110
M/T 227 Order designation
e Polycarbonate enclosures Order no.
04.2/938" M 227 02227000
1y gikf *= Dimension reduced ut bottom due to conicul form. M 227 G 022271 00
e Tolerunces to DIN 16901-130.. (G — Wlth clear |Id)
Ll ABS enclosures Order no.
2|0
ZI2IR T 227 03227000
NER
SR Due to u different shrinkuge rate of T 227 SV* 03227400
the plustic muteriul, ABS enclosures cun - -
b6 Cbout 0.1 - 025% bigyer thun the (SV = quick-release fastening)
\! ) PC enclosures shownh in the drawing. * available on request
:;ﬁ N | cylinder screw M4 x 24/10
] similar DIN EN 1SO 7045

lid @

Accessories (additional charge)  Order no.

85
]221/1151 . — G%AQ%’J 70 (fotal height) M: Mounting plate, 2.0 mm 22000500
97.2/962" ~ 4 RD: set of knurled screws = 4 pcs 22003100
’S n D’ s F: set of rubber feet = 4 pcs 22003300
b @7 id \WL: set of wall brackets = 4 pcs 22004900
ol 2 TS 15: Top hat rail DIN EN 60715 TH15 22001900
o | - © TS 35: Top hat rail DIN EN 60715 TH35 22001910

®
@

i

|

|

]

|
©)

120/119
%0
4
]
9%
77.2/76.2

SN | 1
oo ofg :
83.4 /')o‘ 4
100 4 78 3
116/116* (mux. ussembly height)
—
buse @

Z-2501111

396 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

*= Dimension reduced ut bottom due to conicul form.
Tolerunces to DIN 16901-130.

. . 122/120.8 *
Order designation 113/111.9°
Polycarbonate enclosures  Order no. 220531
M 228 02228000 —
M 228 G 02228100
(G = with clear lid)
ABS enclosure Order no. §§§
T 228 03228000 SIEN

lid

Accessories (additional charge)  Order no. ]22/@2] s Y
M Mounting plate, 2.0 mm 22000500 5 2]/2?32 . 65 deep
F: set of rubber feet = 4 pcs 22003300 T
\WWL: set of wall brackets = 4 pcs 22004900 21

TS 15: Top hat rail DIN EN 60715 TH15 22001900

TS 35: Top hat rail DIN EN 60715 TH35 22001910

o)
\2

285
23

120/119 *
90
14
[ 1

98
77.2/76.2*

114/113*
®

24.2

M/T 228

Due to u different shrinkuge rute of

the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawiny.

cylinder screw M4 x 45/10
similur to DIN EN ISO 7045

105
(fotul height)

DMWY

83.4 o 4
100 4 — 98.5 25
116/115* (Mux. ussembly height)
buse @
2-2501112
Order designation M/T 230
Polycarbonate enclosure  Order no.
M 230 02230000
120/119.5 %
111/1106
ABS enclosures Order no. 92.2/918"
*= Dimension reduced ut bottom due to conicul form.
T 230 03230000 T @ Tolerunces to DIN 16901-130.
T 230 SV* 03230400 2E J
(SV = quick-release fastening) o] o] 2
* P gIRI2 Due to u different shrinkage rate of
avallable on request A< 3 the plustic materiul, ABS enclosures cun
R J) be ubout 0.1 - 0.25% bigyer thun the
i E% el PC enclosures shown in the drawing.
5 )
: L. t cylinder screw M4 x 28/10
Accessories (additional charge) Order no. » similor 1o DIN EN 1SO 7045
M: Mounting plate, 1.5 mm 22000400 @
. - 90
F: set of rubber feet = 4 pcs 22003300 120119 * — vy Gotal heighh
WL: set of wall brackets = 4 pcs 22004900 951359'4 . 6.5 deep 2 0
TS 15: Top hat rail DIN EN 60715 TH15 22001900 R
TS 35: Top hat rail DIN EN 60715 TH35 22001910 {ofz A N
Y il 4
' q S ‘_1‘ ., o
e ? e=r Y :
OFCER | IR ®@® —
© 5™
N A
ke 95

81.5 /')o' \ 5
96 3 84
114/113* (Mux. ussembly height)

)

—|
buse

Z-2501113

Processing (drilling, milling, printing) and terminal assignment on request. 397

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

M/T 231 Order designation
Polycarbonate enclosures  Order no.
M 231 02231000
M 231G 02231100
e (G = with clear lid)
*= Dimension reduced ut bottom due fo conicul form.
5 & Tolerunces to DIN 16901-130. ABS enclosures Order no.
n 3N T 231 03231000
ool T 231 SV* 03231400
sl=g (SV = quick-release fastening)
- %?[ ﬁ; * available on request
< cylinder screw M4 x 24/10

similar to DIN EN ISO 7045

lid .
: @ o Accessories (additional charge) Order no.

1001/1129 . — é%Ad/eep 70(toful height) M: Mounting plate, 1.5 mm 22000600
135.2/134* o 4 RD: set of knurled screws = 4 pcs 22003100
% 2 F: set of rubber feet = 4 pcs 22003300
g WL: set of wall brackets = 4 pcs 22004900

TS 15: Top hat rail DIN EN 60715 TH15 22002000

6.8

TS 32: G-rail DIN EN 60715 G 32 22002010

©
80/79 *
50
14
]
5] &
©
58
X @85
gu_‘ 23
37.2/36
74/73
®
©
\

TS 35: Top hat rail DIN EN 60715 TH35 22002020

7

©
[

° .
\ hd

\ 121 \ Es %\» 5
136 s 79

154/153 * (mux. ussembly height)

buse @ Due fo u different shrinkuge rute of
the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.

Z-2501114
M/T 235 Order designation
Polycarbonate enclosure  Order no.
M 235 02235000
160/159.5 *
151/160.6 *
132.2/131.8*
= o "= Dimension reduced ut bottom due to conicul form. ABS enclosures Order no.
IF ue Tolerances to DIN 16901-130. T 235 03235000
el T 235 SV* 03235400
g g (SV = quick-release fastening)
8~3 * available on request

17
=

cylinder screw M4 x 28/10

similur fo DIN EN 15O 7045 Accessories (additional charge)  Order no.

lid ®

1601159 * - M o EO = M: Mounting plate, 1.5 mm 22000600
2 o eight)
5 124;?34 . 6.5 deep 2 70 F: set of rubber feet = 4 pcs 22003300
: 9 WL: set of wall brackets = 4 pcs 22004900
| NN
% © ® SSt TS 15: Top hat rail DIN EN 60715 TH15 22002000
Wl N
~ <ls - TS 32: G-rail DIN EN 60715 G 32 22002010
(=] 4‘_—<@
o I¥s) el o 0 . .
@gg SF @ e @ ® H——— S ® TS 35: Top hat rail DIN EN 60715 TH35 22002020
2 R (’v\7 ~
\@J of3
| 121 | & % 5
136 3 84 3
154/153 * (Mmux. ussembly height)
buse @ Due to u different shrinkuge rate of

the plustic muteriul, ABS enclosures cun
be dbout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.

Z-2501115

398 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

Order designation 2001989 - M/T 237
Polycarbonate enclosures Order no. 191/190.1%
M 237 02237000 e
R— —————————————————\& *= Dimension reduced ut bottom due to conicul form.
M 237 G 02237100 Tollerunées to DL||N 16‘;01—130‘ ! e
(G = with clear lid)
ABS enclosures Order no. 55|12
T 237 03237000 SR
T 237 SV* 03237400
(SV = quick-release fastening)
* available on request - @
cylinder screw M4 x 37/10
i similur fo DIN EN 1SO 7045
) %
Accessories (additional charge) Order no. 200]/;:9“ 24/ oo (ot height)
M Mounting plate, 2.0 mm 22000700 175.2/174.2 ‘ | 65 desb I
F: set of rubber feet = 4 pcs 22003300 G — 5| f—
WL: set of wall brackets = 4 pcs 22004900 J @—@ 22
TS 15: Top hat rail DIN EN 60715 TH15 22002100 & - H s
TS 32: G-rail DIN EN 60715 G 32 22002130 . °
o S )
TS 35: Top hat rail DIN EN 60715 TH35 22002120 @gggzﬂ @ @ ® @ ''''''' n ®
N
| 3
@—@ -t
| 137.5 To‘ 65
760 3 83.5 35
]941/71%3 - (Mmux. ussembly height)
- Due to u different shrinkuge rute of
buse @ the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Z-2501116
Order designation L, M/T 238
Polycarbonate enclosures Order no. ‘ 132.2/131.3"
M 238 02238000 I ‘ ’=TDi|mension ;e%fﬁe]cé;&]b]o;g)om due to conicul form.
olerunces fo - .
M 238 G 02238100 g 3
¥a?
(G = with clear lid) ‘

ABS enclosures Order no. Eig I Jf .
T 238 03238000 SIS

T 238 SV* 03238400 ‘

(SV = quick-release fastening) ﬁ]] ‘ @
* available on request

cylinder screw M4 x 37/10

Id similur to DIN EN ISO 7045
Accessories (additional charge)  Order no. 160/1569° ™ L g Gotdl hz(i)uhf)
M: Mounting plate, 2.0 mm 22001100 135.2/134.2 * 65 deep N 4

F: set of rubber feet = 4 pcs 22003300 % ;f

WL: set of wall brackets = 4 pcs 220049200 \_J@ : ?

TS 15: Top hat rail DIN EN 60715 TH15 22002000 f o2 1

286

TS 32: G-rail DIN EN 60715 G 32 22002010
TS 35: Top hat rail DIN EN 60715 TH35 22002020 ®

285
23
3

120/118.9
88
14
-4
9
75.2/74.2*
114/113
®
©@
i
i
|
i
©

SN L
2© &9 =
,e W - Ei,i,
120.7 & 65
136 3 83.5 35
154/153 * (mux. ussembly height)
buse @ * Due to u different shrinkuge rute of
the plustic muterial, ABS enclosures cun
be dbout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Z-2501117
Processing (drilling, milling, printing) and terminal assignment on request. 399

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

160/159.5 *
151/150.6
132.2/131.8 *
N *= Dimension reduced uf botfom due fo conicul form.
Eﬂ 3 Tolerances to DIN 16901-130.
2
o9
SIS
FEN
SI=
Al £
N
cylinder screw M4 x 24/10
id similur o DIN EN ISO 7045
[
75
160/158.9 * (totul height)
148 24/ 60
135.2/1342~ ‘ 6.5 deep
g o
N
O
7 22 I
(o
| —& 13
® 250 .
IS
© =
‘ 120.7 6.5
136 3 68.5
154/163 * (mux. ussembly height)

Order designation

Polycarbonate enclosures Order no.
M 2381 02238200
M 2381 G 02238300
(G = with clear lid)

ABS enclosure Order no.
T 2381 03238200
Accessories (additional charge) Order no.
M: Mounting plate, 2.0 mm 22001100
RD: set of knurled screws = 4 pcs 22003200
F: set of rubber feet = 4 pcs 22003300
WL: set of wall brackets = 4 pcs 22004900

TS 15: Top hat rail DIN EN 60715 TH15 22002000

TS 32: G-rail DIN EN 60715 G 32 22002010

TS 35: Top hat rail DIN EN 60715 TH35 22002020

cylinder screw M4 x 24/10
similur to DIN EN 1SO 7045

— Due fo u different shrinkuye rate of
buse @ the plustic material, ABS enclosures cun
be dubout 0.1 - 0.25% bigyer thun the
2-2502157 PC enclosures shown in the drawing.
M/T 240 Order designation
250/249.7 Polycarbonate enclosures  Order no.
| TR M 240 02240000
—— | *= Dimension reduced ut bottom due to conicul form. M 240 G 022401 00
@ Qy& Tolerances fo DIN 16901-130. (G = with clear lid)
) ABS enclosures Order no.
5 § 3 ; T 240 03240000
% KS) 3 § T 240 SV* 03240400

(SV = quick-release fastening)
* available on request

lid O] %0 Accessories (additional charge)  Order no.
250/249 * (fotul height) . i
238 o4/ 75 M: Mounting plate, 2.5 mm 22000900
‘ 225/204" | 65 deep 2 43 15 RD: set of knurled screws = 4 pcs 22003200
. N F: set of rubber feet = 4 pcs 22003300
r J © m WL: set of wall brackets = 4 pcs 22004900
o A% = s TS 15: Top hat rail DIN EN 60715 TH15 22002402
5 9 % TS 32: G-rail DIN EN 60715 G 32 22002300
0 = =
®@ g8e SSEORBERONS 5] — © TS 35: Top hat rail DIN EN 60715 TH35 22002310
O| —_
H
- -
| 190.5 6
212 3 84 3
216 (Mmux. ussembly height)
244/243 *
- Due to u different shrinkuge rute of
b @ — the plustic muteriul, ABS enclosures cut
se be dbout 0.1 - 0.25% bigger thun the
Z-2501118 PC enclosures shown in the drawing.
400 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

Order designation M/T 2401
Polycarbonate enclosures Order no. 200.3/2398 "
M 2401 02240200 2;;%?205'8.'
| |
M 2401 G - 02240300 o *= Dimension reduced ut bottom due to conicul form.
(G = with clear lid) Q@M Tolerances to DIN 16901-130.
ABS enclosures Order no. A .
T 2401 03240200 % g\’ 3 S Due fo u different shrinkage rate of
|3 | | the plustic materiul, ABS enclosures cun
T 2401 SV* 03240240 CEE 3 b6 Coout 0.1 - 0.25% bigger fhan the
(SV = quick-release fastening) PC enclosures shown in the drawing.
* available on request f%
cylinder screw M4 x 24/10
lid similur o DIN EN ISO 7045
Accessories (additional charge) ~ Order no. o
%
M: Mounting plate, 2.5 mm 22001000 240.3/239 * — 24/ (total height)
RD: set of knurled screws = 4 pcs 22003200 ‘ 216/222184 7 6.5 deep I =
F: set of rubber feet = 4 pcs 22003300 ‘@ gl:
WL: set of wall brackets = 4 pcs 22004900 T % z m‘
TS 15: Top hat rail DIN EN 60715 TH15 22002402 & r 5 s
TS 32: G-rail DIN EN 60715 G 32 22002400 . o ﬁ-;‘; o
2] w
TS 35: Top hat rail DIN EN 60715 TH35 22002401 ® :%8 o= &~ —%- 5@ © @ o G
8 8
H
o ,
| 201.4 5
216 3 ”L 84 3
234.3/233 * (Mux. ussembly height)
buse ® -
Z-2501119
Order designation M/T 241
Polycarbonate enclosure  Order no. 250/249.5 o)
M 241 02241000 22;‘21//22;1?55 5.3 deep
‘ 1905 ‘ (
*= Dimension reduced ut bottom due to conicul form.
@ Q_ym Tolerunces to DIN 16901-130.
285
ABS enclosures Order no.
T 241 03241000 bofiolia o L
I - © Due to u different shrinkuge rute of
T 241 SV* 03241 400 § g g § the plustic muteriul, ABS enclosures cun
B . 3| 5|2 el be dbout 0.1 - 0.25% bigyger thun the
(SV = qU|Ck're|ea5e faStenlng) 177 PC enclosures shown in the drawing.
* available on request
) o pe o RSP
Accessories (additional charge)  Order no. lict ® 1o
. - 250/249 * - (fotal height)
M: Mounting plate, 2.5 mm 22000900 238 o4/ 75
RD: set of knurled screws = 4 pcs 22003310 ‘ 225/224~ ‘ | 65 deeb ! 45
F: set of rubber feet = 4 pcs 22003300 fo oo sl:
WL: set of wall brackets = 4 pcs 22004900 > ©
TS 15: Top hat rail DIN EN 60715 TH15 22002402 © o & s
TS 32: Gerail DIN EN 60715 G 32 22002300 P 2 S 3
o re) — 1 w =3
TS 35: Top hat rail DIN EN 60715 TH35 22002310 ® gg S 3 @ 6 ®
H
3 R —
A6 4
3 13 3
(mux, ussembly height)
buse -
Z-2501120
Processing (drilling, milling, printing) and terminal assignment on request. 401

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

M/T 242

Order designation

-

O]

240.3/239 *

228

216/214.7 *

©
160.3/159

130

75

14

ol

or e

118/116.7 *

PC enclosures shown in the drawing.

cylinder screw M4 x 55/10
similar to DIN EN ISO 7045

120
(fotul height)
75

¢4.T
il

0

)
©)

o

Polycarbonate enclosures Order no.
M 242 02242000
240.5/239.6 *
20512990 M 242 G _ 02242100
‘ 214.2/213.4° ‘ ‘ (G = with clear lid)
@ ’=TDi|mension ;e%me]%gg]b]oa%om due fo conicul form.
olerunces 10 - .
ABS enclosures Order no.
oo T 242 03242000
== Due to u different shrinkuye rute of *
§ = the plustic material, ABS enclosures can T 242 sv 03242400
== be ubout 0.1 - 0.25% bigger thun the (SV = quick_release fastening)
PC enclosures shown in the drawing. .
@ * available on request
. cylinder screw M4 x 34/10
lict similar fo DINEN SO 7045~ |
0) Accessories (additional charge) Order no.
100.5
240.5/239.2 (fotal height) M: Mounting plate, 2.0 mm 22001200
‘ 217 22/2236 R o4 o F: set of rubber feet = 4 pcs 22003300
| gl: WL: set of wall brackets = 4 pcs 22004900
© ® 22 TS 15: Top hat rail DIN EN 60715 TH15 22002402
©
| o %‘S r - | N TS 32: G-rail DIN EN 60715 G 32 22002400
2 =3 . .
® §8 =T @ o ® g TS 35: Top hat rail DIN EN 60715 TH35 22002401
N
© © :
| Leas | ILs
1385 35 94
202.5 (mux. ussembly height)
234.5/233.5
buse @ —=
Z-2501121
M/T 243 Order designation
240/239* Polycarbonate enclosures Order no.
| i | M 243 02243000
ﬁg@‘ ‘@ “= Dmension reduced uf botiom due fo conicalform. M 243 G 02243100
Q:\Ya Tolerunces to DIN 16901-130. (G = with clear |Id)
. . ABS enclosures Order no.
3|32 S Due to u different shrinkuge rute of
§ E 3 % the plustic mauteril, ABS enclosures cun T 243 03243000
pej e 2 be ubout 0.1 - 0.25% biyyer thun the T 243 SV* 03243400

(SV = quick-release fastening)

* available on request

Accessories (additional charge)  Order no.
M: Mounting plate, 2.5 mm 22001000
RD: set of knurled screws = 4 pcs 22003310
F: set of rubber feet = 4 pcs 22003300
WL: set of wall brackets = 4 pcs 22004900

TS 15: Top hat rail DIN EN 60715 TH15 22002402

TS 32: G-rail DIN EN 60715 G 32

22002400

TS 35: Top hat rail DIN EN 60715 TH35 22002401

@ _
201.4 5
| 216 3 ke 113.5 3.5
234.3/233 * (Mmux. ussembly height)
buse @ -
Z-2501122
402 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

Order designation M/T 244
Polycarbonate enclosures Order no.
M 244 02244000
M 244 G 02244100 340/339.6 *
— Wi ; 332/331.7 *
(G = with clear lid) o
‘ *= Dimension reduced ut bottom due to conicul form.
ABS enclosure Order no i E | Tolerunces to DIN 16901-130.
T 244 03244000 .
N "\
% s 2 Due to u different shrinkuge rute of
3 g9l the plustic muteriul, ABS enclosures cun
2|3 be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
a ﬁ cylinder screw Mé x 25/10
) : similur fo DIN EN 1SO 7045
Accessories (additional charge) Order no. lid ) 100
M: Mounting plate, 2.5 mm 22001300 340/332‘17'2 . - " éBO‘”‘ height)
1]
F: set of rubber feet = 4 pcs 22003300 ‘ 304/301.3* { || 65 deep 32
. 0|
TS 15: Top hat rail DIN EN 60715 TH15 22002720 % @/ N =
TS 32: G-rail DIN EN 60715 G 32 22002700 o
TS 35: Top hat rail DIN EN 60715 TH35 22002710 % N r §‘; 1.1 S
~]| — A o]
OE=CE E S B £ ONNOR -
Q| O ¢V
8 ki
@ < ®
220 e, 5
297 ¢ 4 -0 925 35
332/329.3 * (mux. ussembly height)
buse @ —
Z-2501123
Order designation M/T 245
Polycarbonate enclosure  Order no.
M 245 02245000
340/339.3*
332/331.3"
304/303.3" ‘
ABS enclosure Order no. *= Dimension reduced ut bottom due fo conicul form
T 245 03245000 T @ | Tolerunces to DIN 16901-130.
ol
RIS Due to u different shrinkage rafe of
Slals the plustic muteriul, ABS enclosures cun
jiefsiiey be dbout 0.1 - 0.25% bigger than the
PC enclosures shown in the drawing.
Accessories (additional charge) Order no. e e
M: Mounting plate, 2.5 mm 22001300 lid ©) 5 120
F: set of rubber feet = 4 pcs 22003300 340332347-2 . - oy goforiheight)
TS 15: Top hat rail DIN EN 60715 TH35 22002720 | 304/301.3* | |65 deen 32 40
[fe]
TS 32: G-rail DIN EN 60715 G 32 22002700 fe ©/ s =
TS 35: Top hat rail DIN EN 60715 TH35 22002710 i
r Qe a
2 o R L .
@ -e = of52@ ©® @ O]
Q ooy
8 Eib
@ ¢ ®
l ol PR
gég ‘% 4 -° 113 3
332/329.3 * (Mmux. ussembly height)
buse @ —
Z-2501124
Processing (drilling, milling, printing) and terminal assignment on request. 403

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

M/T 246 Order designation
1601572+ Polycarbonate enclosures Order no.
‘ ]135212?3;;. M 246 02246000
*= Dimension reduced ut bottfom due fo conicul form. M 246 G = 02246100
Tolerances to DIN 16901-130. (G = with clear lid)
e ABS enclosure Order no.
|l
SR T 246 03246000
SIS
SN
3 cylinder screw M4 x 90/22
» similar to DIN EN ISO 7045
I
oo 140 Accessories (additional charge) Order no.
/148' é“é“éeep 60 (fotal height) M Mounting plate, 2.0 mm 22001100
T . 7
‘ ‘ 135.2/1342 | ‘ 4 g ] F: set of rubber feet = 4 pcs 22003300
%@ @@ R — WL: set of wall brackets = 4 pcs 22004900
~ 22 || - X TS 15: Top hat rail DIN EN 60715 TH15 22002000
. Qor - H TS 32: G-rail DIN EN 60715 G 32 22002010
e S * e
o -y ) — R TS 35: Top hat rail DIN EN 60715 TH35 22002020
® 3o =S @ OF——— . ®
< — - UN) Er
® off
\ 120.7 \ Cs 65
136 3 7
154/153 * (mux, ussembly height)
® —= Due to u different shrinkage rate of
buse the plustic muterial, ABS enclosures cun
be ubout 0.1 - 0.25% bigyger thun the
PC enclosures shown in the drawing.
Z-2501125
M/T 250 Order designation
Polycarbonate enclosure  Order no.
250/249.5 * M 250 02250000
241/2405*
222/221.5°
‘ Sl | ABS enclosure Order no.
*= Dimension reduced ut bottom due to conicul form.
‘ ‘ é Tolerunces to DIN 16901-130. T 250 03250000
\
NN [
SR & I Accessories (additional charge)  Order no.
g;g ‘ ‘; M: Mounting plate, 2.5 mm 22000900
} F: set of rubber feet = 4 pcs 22003300
% ® & cylinder screw M4 x 90/22 WL: set of wall brackets = 4 pcs 22004900
5 9 sitiler to DIN EN ISO 7045 TS 15: Top hat rail DIN EN 60715 TH15 22002402
id 150 TS 32: G-rail DIN EN 60715 G 32 22002300
2502/32519 - (totul height) TS 35: Top hat rail DIN EN 60715 TH35 22002310
‘ 225/224* © 45
\ vL
Q|
©
@ g S
S ] ol
2\l I = —|© =
® gﬁ 2T 33 ® B ®
H
! .~ SRR
190.5 Aleé
212 3 144 3
216 (Mmux. ussembly height)
244/243 ' )
Due to u different shrinkuge rute of
buse @) - the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Z-2501126

404 For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

(SV = quick-release fastening)
* available on request

Order designation M/T 251
Polycarbonate enclosure  Order no.
‘ 360/359.1 *
M 251 02251000 3607350,
332/331.2*
*= Dimension reduced ut bottom due to
_ ‘ conicul form. Tolerunces to DIN 16901-130.
<
i
ABS enclosures Order no. ‘_ ‘ ~ Due to u different shrinkuge rute of
oo J J the plustic muteriul, ABS enclosures cun
T 251 03251 000 2 | § be ubout 0.1 - 0.25% bigyer thun the
T 251 SV* 03251400 S ‘ 9 PC enclosures shown in the drawing.
i
\

@ cylinder screw M4 x 34/10
similar to DIN EN ISO 7045

lidt
. ® . —— 15 100
Accessories (additional charge) Order no. 360234588-7 255/ (otdl height)
M Mounting plate, 2.5 mm 22001400 335/333.7 95 deep o "7 7 25
<
F: set of rubber feet = 4 pcs 22003300 = E%
WL: set of wall brackets = 4 pcs 22004900 r = %
TS 15: Top hat rail DIN EN 60715 TH15 22002820 . 2o ®
- . ™~ S =
TS 32: G-rail DIN EN 60715 G 32 22002800 ®8 :ﬁ @ o f 1 6
TS 35: Top hat rail DIN EN 60715 TH35 22002810 3
=]
= |
- s
330 3 %35 35
353/351.7 * (mux. ussembly height)
buse @) -
Z-2501127
Order designation s M 252
Polycarbonate enclosure  Order no. 272/271.8 /]
*= Dimension reduced ut bottom due to conicul form.
M 252 02252000 Q?/@— @ Tolerances o DIN 16901-130.
| | Zo.
§ I g Due fo u different shrinkuye rute of
SISy S the plustic materiul, ABS enclosures cun
QINX IS be ubout 0.1 - 0.25% bigyer thun the
. PC encl hown in the drawing.
AcCessories (additional charge)  Order no. enclosures snown in fne drawing
M: Mounting plate, 2.0 mm 22001500
F: set of rubber feet = 4 pcs 22003300 Tﬂ ﬁ
WL: set of wall brackets = 4 pcs 22004900 - = ;ﬂ'z‘:z’/;csfn‘?"w .
TS 15: Top hat rail DIN EN 60715 TH15 22002920 lic to DIN EN ISO 7045
* Gerai 0] 15 65
TS 32: G-rail DIN EN 60715 G 32 22002900 S0 00 - — R
268 6% d = 10
‘ ; 275/274.1 % > deep 4S5
g
e ufm C
o Lz - %G N
) * =
Rl g |z ECIN ==
OIISIENE 1 ' & =2Zd @ © g 1 ©
8 (=] 0| N}
N —| N
> ]
T e 1 hd =i
85 @
255 c 3‘u 585 35
275.5 (Mmux. ussembly height)
294/293.1 "
buse @) -
Z-2501128
Processing (drilling, milling, printing) and terminal assignment on request. 405

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

‘ 406

300/299*
290/289 *
271/270~
M/T 253 ‘:TDiIme:sion Tre%;ﬁe]%;g]b]ogéom due to conicul form. Order designation
olerunces 10 - .
Polycarbonate enclosures Order no.
) bue 166 differont shin oo M 253 02253000
ue to u different shrinkuyge rute o
& the plustic muteriul, ABS enclosures cun M 253 G 022531 00
g be ubout 0.1 - 0.25% bigyer thun the . .
N PC enclosures shown in the drawing. (G = Wlth clear I|d)
cylinder screw M4 x 37/10
similur fo DIN EN 1SO 7045 ABS enclosures Order no.
i 15 85 T 253 03253000
300299 ° (ot neior) T 253 SV* 03253400
275/274.1 6.5 deep A4S 30 T 253 F** 03253200
Q) — . .
”—: i 1e2 . - N (SV = quick-release fastening,
g .
Nan F = with membrane keypad area)
2 g I3 - * available on request
& = B! 5 ~ - agn .
©3 S 8@ ©F © ** available for quantities exceeding
) {8 S 500 units
| b
=
85 5
255 3 785 |35 : L
22501129 255 (o e T Accessories (additional charge)  Order no.
294/293.1* — M: Mounting plate, 2.0 mm 22001500
b
e @ 55 F: set of rubber feet = 4 pcs 22003300
T253F 278,142 . 30.5 WL: set of wall brackets = 4 pcs 22004900
4 ! TS 15: Top hat rail DIN EN 60715 TH15 22002920
TS 32: G-rail DIN EN 60715 G 32 22002900
®3 @ 61 ®
N
I i ﬁ
72501137 ® 4l
M/T 254 Order designation
300/298.1 * Polycarbonate enclosures Order no.
290/288.2 *
05 M 254 02254000
"= Dimension reduced ut bottom due fo M 254 G 02254100
ng conicul form. Tolerunces to DIN 16901-130. (G — Wi'th clear |Id)
& =
N Due to u different shrinkuge rute of
~olad o the plustic muterial, ABS enclosures can ABS enclosures Order no.
N < be ubout 0.1 - 0.25% bigyyer thun the T 254 03254000
S8 3 PC enclosures shown in the drawing.
N~ N T 254 SV* 03254400
(SV = quick-release fastening)
. .
i cyinder scrow available on request
- @7 @ M4 x 62/10 similur to
DIN EN ISO 7045
lid
@ 15 110 : -
300/299 * —_ , Gotdl heighh Accessories (additional charge) Order no.
‘ 575 2287%“ - é.gd/eep o ﬁss 55 M: Mounting plate, 2.0 mm 22001500
§ - Set of rubber feet = 4 pcs
‘@ /& N F: f f 22003300
-
o & To2 PN s 3 WL: set of wall brackets = 4 pcs 22004900
< TS 15: Top hat rail DIN EN 60715 TH35 22002920
. o 1 20 e TS 32: G-rail DIN EN 60715 G 32 22002900
O FER 23 “Ll;; ERRCR ®
g g ER
® il
I @@
%J & o 103.5 35
2755 mux. ussembly height)
294/293.1*
buse ® -
Z-2501130
For accessories see illustrations on pages 408-409.



€44

BOPLA

A Phoenix Mecano Company

Order designation M/T 255

Polycarbonate enclosures Order no.
M 255 02255000 203585 -
M 255 G 02255100 Sdgj3ard”
(G = Wlth dear lld) ‘ ‘ *= Dimension reduced ut bottom due to conicul form.
\\y @ Tolerunces to DIN 16901-130.
U
ABS enclosures Order no. |
T 255 03255000 R }
jeaisd b Due t different shrink te of
T 255 sv* 03255400 33 ‘ Thiepz;iclmirfeerinj, ZBSueyr?cF;sﬁrgs cun
— H _ H = : be ubout 0.1 - 0.25% big than th
(SV —_ql-“Ck release faStenlng) \ P(% engIL(J)sures shown irlgﬁzrdruwinye.
* available on request \
LR A\ 8

lid cylinder screw Mé x 45/10
similur to DIN EN 1ISO 7045

® 1.25 149.5
360/358.2 * — 55/ (total height)
320334% 3" | S5 deets 1 251300 49.5
Accessories (additional charge)  Order no. ’ _ﬁ ‘ L — e
M: Mounting plate, 2.5 mm 22001600 ) RN @tf =
F: set of rubber feet = 4 pcs 22003300 ® a > 5 S
© Gra ) el — 2 :"’ <)
TS 32: G-rail DIN EN 60715 G 32 22002950 © B89ete o g o L & ®
TS 35: Top hat rail DIN EN 60715 TH35 22002951 s i = ER =
N o - an H
’ ® N B
\ 301 T % 3 sﬁ:w 142
352 %3500.3 - ] (Mmux. ussembly height)
buse ® -
Z-2501131
360/358.3 *
349/347.4*
317/315.4*
T 260
] \\bﬂ *= Dimension reduced ut bottom due to conicul form.
Q Tolerunces fo DIN 16901-130.
Due to u different shrinkuge rute of
the plustic muteriul, ABS enclosures cun
be ubout 0.1 - 0.25% bigyer thun the
PC enclosures shown in the drawing.
Order designation S5l 5
| IS W) [To}
ABS enclosure Order no. 583 N g 2 oylinder scrow M6x 45/10
T 260 03260000 389 3 similur fo DIN EN ISO 7045
lid
‘ O 1.25 150
360/358.3 — 555/ (total height)
340 0.5 desp 100
320/318.3 e o 41125 50
oo &, D) R e ==
20 Qy%;/j gl
Accessories (additional charge)  Order no. y ‘g"
r
M: Mounting plate, sheet steel, 2.0 mm 22001610
F: set of rubber feet = 4 pcs 22003300 035
TS 32: G-rail DIN EN 60715 G 32 22002960 T
* * o * | *
2 G 23
OE £ T3 33 @ 6 B8 ®
o O ol
< 3 33
& - off] 2 o
CESEENEENSS
\ 300 EE 110
352/350.3 * 4 142 4
buse j—— (mux. ussembly height)
(o]
Z-2501132
Processing (drilling, milling, printing) and terminal assignment on request. 407

All dimensions in mm. Please refer to technical data.




U

Welcome to BOPLACity!

(efe 9]
Gle &%)
BB
: a2 5 o
,,,,, ] i ‘ . 8
) N\ O A = R
| & & H

Model M RD F SIL WL TS 15 TS 32 TS 35

205 22000100 - - - - 22001800 - -

206 22000200 - - - - 22001710 - -

208 - - 22003300 - - - - -

210 22000300 22003100 22003300 22003500 22004900 22001700 22001701 22001702

215 22000400 22003100 22003300 22003600 22004900 22001900 - 22001910

216 22000400 - 22003300 22003600 22004900 22001900 - 22001910

217 22000500 22003100 22003300 22003700 22004900 22001900 - 22001910

219 22000600 - 22003300 22003800 22004900 22002000 22002010 22002020

220 22000600 22003100 22003300 22003800 22004900 22002000 22002010 22002020

221 22000700 22003100 22003300 22003900 22004900 22002100 22002110 22002120

223 22000800 22003100 22003300 22005500 22004900 22002100 22002110 22002120

225 22000300 22003100 22003300 22003500 22004900 22001700 22001701 22001702

226 22000400 22003100 22003300 22003600 22004900 22001900 - 22001910

227 22000500 22003100 22003300 22003700 22004900 22001900 - 22001910

228 22000500 - 22003300 22003700 22004900 22001900 - 22001910

230 22000400 - 22003300 22003600 22004900 22001900 - 22001910

231 22000600 22003100 22003300 22003800 22004900 22002000 22002010 22002020

235 22000600 - 22003300 22003800 22004900 22002000 22002010 22002020

237 22000700 - 22003300 22003900 22004900 22002100 22002110 22002120

238 22001100 - 22003300 22004300 22004900 22002000 22002010 22002020

240 22000900 22003200 22003300 22004100 22004900 22002402 22002300 22002310

2401 22001000 22003200 22003300 22004200 22004900 22002402 22002400 22002401

241 22000900 22003310 22003300 22004100 22004900 22002402 22002300 22002310

242 22001200 - 22003300 22004400 22004900 22002402 22002400 22002401

243 22001000 22003310 22003300 22004200 22004900 22002402 22002400 22002401

244 22001300 - 22003300 22004500 - 22002720 22002700 22002710

245 22001300 - 22003300 22004500 - 22002720 22002700 22002710

246 22001100 - 22003300 22004300 22004900 22002000 22002010 22002020

250 22000900 - 22003300 22004100 22004900 22002402 22002300 22002310

251 22001400 - 22003300 22004600 22004900 22002820 22002800 22002810

252 22001500 - 22003300 22004700 22004900 22002920 22002900 -

253 22001500 - 22003300 22004700 22004900 22002920 22002900 -

254 22001500 - 22003300 22004700 22004900 22002920 22002900 -

255 22001600 - 22003300 22004800 - - 22002950 22002951

260 22001610 - 22003300 - - - 22002960 -

M: Mounting plates, laminated F: Set of rubber feet = 4 pcs TS 15: Top hat rail DIN EN 60715 TH15
paper (Pertinax), galvanised SIL:  Lid with silicone seal TS 32: G-rail DIN EN 60715 G 32
steel for model 260 WL: Set of wall brackets = 4 pcs TS 35: Top hat rail DIN EN 60715 TH35

RD: Set of knurled screws = 4 pcs
(cannot be used with SV)

Threaded inserts for mounting bosses Assembly instructions:

Boss internal o x depth  Threaded inserts Order no. PU Put the insert into the boss until it

4x6.5 Dodge M 3 x 6.5 59002810 100 pcs touches the base. Then hammer down

5.4x9.5 Dodge M 4 x 9.5 59002820 100 pcs the stretcher plate using a pin.

Cabinet-version: PN

If you want your enclosure(s) fitted Order designation Order no. ’

with hinges, please order separately: SchM: Set of hinges

polycarbonate 22006000

Additional charge for fitting.

Z-2001663

408



€44

BOPLA

A Phoenix Mecano Company

Maximal assignment
with terminal blocks

Phoenix Weidmiiller

MBK 25 MBK3 MBK5 UK3N UK5N UK10N AKZ 1.5 AKZ 2.5 AKZ4 SAK 2.5 SAK 4
DIN-rail TS 15 X X X X X X
DIN-rail TS 32 X X X X X
DIN-rail TS 35 X X X
Bridgeable X X X X X X X X X X
End angle-piece 2 2 2 2 2 2 2 2 2 2 2
Closing plate - - 1 1 1 1 1 1 1 1
Connection cross-section
(mm?) fine-strand 1.5 2.5 4 2.5 4 10 1.5 2.5 4 2.5 4
Connection cross-section
(mm?) single wire 2.5 4 4 4 6 16 2.5 4 6 4 10
Nominal voltage (V) 500 500 500 750 750 800 400 250 500 800 800
Rating (A) 26 32 34 34 34 76 17.5 24 32 24 32
Terminal width (mm) 5.2 5.2 6.2 5.2 6.2 10.2 5 5 6 6 6.5
Model Number per DIN-rail Number per DIN-rail
M/T 205 1 x KL16/4 PA-DS terminal block 1 x KL16/4 PA-DS terminal block
M/T 206 1 x KL16/8 PA-DS terminal block 1 x KL16/8 PA-DS terminal block
M/T 208 7 7 7
M/T 210 7 7 5 7 7 6
M/T 215 14 14 11 14 14 12
M/T 216 14 14 11 14 14 12
M/T 217 15 15 12 14 14 12
M/T 219 22 22 18 22 18 11 22 22 18
M/T 220 22 22 18 30 22 18
M/T 221 30 30 24 29 23 15 30 30 25 25 23
M/T 223 30 30 24 29 23 15 7 30 25 25 23
M/T 225 7 7 5 6 5 3 14 7 6 6 5
M/T 226 14 14 11 13 11 7 14 14 12 12 9
M/T 227 15 15 12 14 11 7 14 14 12 12 11
M/T 228 15 15 12 14 11 7 14 14 12 12 11
M/T 230 14 14 11 13 11 7 14 14 12 12 11
M/T 231 22 22 18 21 18 11 21 21 17 17 16
M/T 235 22 22 18 21 18 11 21 21 17 17 16
M/T 237 30 30 24 29 23 15 30 30 25 25 23
M/T 238 22 22 18 21 18 11 21 21 17 17 16
M/T 240 38 38 30 36 30 20 40 40 33 33 30
M/T 2401 38 38 30 36 30 20 40 40 33 33 30
M/T 241 38 38 30 36 30 20 40 40 33 33 30
M/T 242 38 38 30 36 30 20 40 40 33 33 30
M/T 243 38 38 30 36 30 20 40 40 33 33 30
M/T 244 52 52 47 50 45 28 54 54 49 49 43
M/T 245 52 52 47 50 45 28 54 54 49 49 43
M/T 246 22 22 18 21 18 11 21 21 17 17 16
M/T 250 38 38 30 36 32 20 40 40 33 33 30
M/T 251 60 60 50 58 48 30 62 62 52 52 46
M 252 48 48 40 46 40 24 48 48 42
M/T 253 48 48 40 46 40 24 48 48 42 42 38
M/T 254 48 48 40 46 40 24 48 48 42 42 38
M/T 255 60 60 50 58 48 30 60 60 50 50 45
T 260 60 60 50 58 48 30 60 60 50 50 45

All dimensions in mm. Please refer to technical data. 409




